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ASSIGNMENT 25 CLASS VIII 

 

ENGLISH ASSIGNMENT 

CLASS VIII 

Learning Outcomes 

 The major goal of reading comprehension is to help students develop the knowledge, 

skills and strategies which they must possess to become proficient and independent 

readers who can read with meaning. 

 The students will be able to use their acquired knowledge of grammar effectively in 

an appropriate, mechanically and integrated correct style. 

A.Read the following passage carefully: 

Be like a flower. One must try to become like a flower: open, frank, equal, generous and 

kind. So, you know what it means? A flower is open to all that surrounds it: nature, light, the 

rays of the sun, the wind etc. It exerts a spontaneous influence on all that is around it. It 

radiates joy and beauty. It is frank. It hides nothing of its beauty and lets its fragrance flow 

frankly out of itself. What is within and what is in its depths, it lets it come out so that 

everyone can see it. It is equal: it has no preferences. Everyone can enjoy its beauty and its 

perfume without rivalry. It is equal and the same for everybody. There is no difference, or 

anything whatsoever. 

Then generous without reserve or restriction, it gives away the mysterious beauty and the 

very own perfume of Nature. It sacrifices itself entirely for our pleasure, even its life it 

sacrifices to express this beauty and the secret of the things gathered within itself. And then, 

kind: it has such a tenderness, it is so sweet, so close to us, so loving. Its presence fills us with 

joy. It is always cheerful and happy. Happy is he who can exchange his qualities with the real 

qualities of the flowers. Try to cultivate in yourself their refined qualities. 

Answer the following questions by selecting most appropriate option from the ones 

given below:          

Q1. A flower is compared…………. 

(a) with all living things  

(b) with human beings  

(c) with girls  

(d) with a child 

Q2. A flower is open to all because………… 

(a) it influences all  

(b) it radiates joy  

(c) it spreads its beauty to all  

(d) all of these 



Q3. The refined qualities of a flower are, 

(a) fragrance and beauty 

(b) generosity and kindness 

(c) equality and attractiveness 

(d) frankness and honesty 

Q4. The writer talks about…………. 

(a) rose flower 

(b) lotus flower 

(c) lily flower 

(d) all flowers 

Q5. A spontaneous influence means………. 

(a) a slow influence 

(b) a quicker influence 

(c) naturally created influence 

(d) a casual influence 

B. The following passage have not been edited. There is a mistake in each line. Write the 

incorrect word as well as the correction as given in example. 

Even as the directory were released  (e.g. were … was) 

about thousand numbers in the city were been changed. (a) ________ 

Moreover, many old connections were given. (b) ________ 

Sometimes the changes are be confirmed (c) ________ 

by dialling 196 or 197. It is only by luck one get (d) ________ 

197. Almost all the time when one dials 197 a record (e) ________ 

voice says, “You were in queue, please wait”. (f) ________ 

C. Arrange the words in the correct order to form meaningful sentences. 

(i) She / interested / that/ was / in / proposal / said / she / the 

(ii) was / Performance /impressed /with/ quite / his/I. 

(iii) the / please / not /do / on / grass / step. 

(iv) at /top/voice/ the man/his/ of/ demanded / the / admission / shouting. 

(v) you / where have / this all / while / been/ ? 

(vi) should / you/ have / coming / seen / this. 

(vii) effect / we/in/did / much / sales / last / not / year /improvement. 

Writing Skill Activity 

On your way to school today, you found a boy washing the utensils in a tea shop. You 

felt bad for him. Share your experience about the incident and prevalence of Child 

Labour in today's world in your diary in about 120-150 words. 

 



MATHEMATICS – Square and Square Root 

 
Please watch these video: 

https://www.youtube.com/watch?v=Rz0lOGtCkLE 

https://www.youtube.com/watch?v=rM8VXpNKi5o 

 

 

Learning Outcomes:  

i. To help the students understand the concept of square numbers and its properties. 
ii. To help the students understand the concept and method of finding Pythagorean 

triplets. 

 

Introduction: 

Observe the following table: 

Number Squares 

1 1x 1= 12= 1 

2 2 x 2 = 22 =4 

3 3 x 3 = 32 = 9 

4 4 x 4 = 42 = 16 

6 6 x 6 = 62 = 36 

8 8 x 8 = 82 = 64 

n n x n = n2 

Since, 4 can be expressed as 2 × 2 = 22 .9 can be expressed as 3 × 3 = 32, all such numbers can be 

expressed as the product of the number with itself. 

Such numbers like 1, 4, 9, 16, 25, ... are known as square numbers. 

In general, if a natural number m can be expressed as n2, where n is also a natural number, then m is 

a square number. 

These numbers are also called perfect squares. 

 

Properties of Square Numbers 

1. All square numbers end with 0, 1, 4, 5, 6 or 9 at unit’s place. None of the square numbers 
end with 2, 3, 7 or 8 at unit’s place. 

2. If a number has 1 or 9 in the unit’s place, then it’s square ends in 1. 

 
3. When a square number ends in 6, the number whose square it is, will have either 4 or 6 in 

unit’s place. 

https://www.youtube.com/watch?v=Rz0lOGtCkLE
https://www.youtube.com/watch?v=rM8VXpNKi5o


 
4. When a square number ends in 4, the number whose square it is, will have either 2 or 8 in 

unit’s place. 
 

5. When a square number ends in 9, the number whose square it is, will have either 3 or 7 in 
unit’s place. 
 

6. Number of zeros at the end of a perfect square are always even. 
Example: 2500 is a perfect square 

    100 is a perfect square 

     But, 20 is not a perfect square 

     8000 is not a perfect square. 

7. Squares of even numbers are always even and squares of odd numbers are always odd. 
Example: Square of 2 is 4 

    Square of 6 is 36 

    Square of 3 is 9 

    Square of 9 is 81. 

8. There are 2n non perfect square numbers between the squares of the numbers n and (n + 
1). 
For example: Between 9(=32) and 16(= 42) there are 2 x 3 = 6 non perfect square numbers. 

They  are 10, 11, 12, 13, 14, 15. 

9. Adding odd numbers: 
Consider the following 

 
 

So we can say that the sum of first n odd natural numbers is n2. 

If the number is a square number, it has to be the sum of successive odd numbers starting from 1. 

If a natural number cannot be expressed as a sum of successive odd natural numbers 

starting with 1, then it is not a perfect square. 

 

Finding the Square of a Number 

Example: Find the square of 39 without actual multiplication. 

Sol: 392 = (30 + 9)2  

= 30(30 + 9) + 9(30 + 9) 

= 302 + 30 × 9 + 9 × 30 + 92 

= 900 + 270 + 270 + 81 



 = 1521 

 

 

Pythagorean triplets 

A Pythagorean triple consists of three positive integers a, b, and c, such that a2 + b2 = c2 

 
For any natural number m > 1, we have (2m)2+ (m2 – 1)2 = (m2 + 1)2. So, 2m, m2 – 1 and m2 + 1 forms 

a Pythagorean triplet. 

Example: Write a Pythagorean triplet whose smallest member is 8. 

Solution: We can get Pythagorean triplets by using general form 2m, m2– 1, m2 + 1. 

Let us first take m2– 1 = 8 

So, m2 = 8 + 1 = 9 

which gives m = 3 

Therefore, 2m = 6 and m2 + 1 = 10 

The triplet is thus 6, 8, 10. But 8 is not the smallest member of this. 

So, let us try 2m = 8 

then m = 4 

We get m2 – 1 = 16 – 1 = 15 

and m2 + 1 = 16 + 1 = 17 

The triplet is 8, 15, 17 with 8 as the smallest member. 

Solve the following Questions: 

Q-1) Which of the following is a perfect square? 

a. 1057 
b. 625 
c. 7928 
d. 64000 

Q-2) Which of the following will have 6 at unit place? 

a. 19
2
 

b. 11
2
 

c. 24
2
 

d. 13
2
 

Q-3) If 5278 is squared, then what will be at unit place? 

a. 8 
b. 7 
c. 6 
d. 4 

Q-4)  How many natural numbers lie between 92 and 102? 

https://en.wikipedia.org/wiki/Integer


a. 17 
b. 18 
c. 19 
d. 20 

Q-5) What will be the number of zeros in square of 400? 

a. 2 
b. 3 
c. 4 
d. 6 

Q-6) Without adding , find the sum of:  1 + 3 + 5 + 7 + 9 + 11 + 13 + 15 + 17 +19 

Q-7) Find a Pythagorean triplet whose one member is 18. 

Q-8) Find the square of 46 and 79. 

Q-9)  The following numbers are obviously not perfect squares. Give reason. 

a. 222 

b. 898 

c. 1097 

Activity: 

Observe the following pattern and find the missing digits: 

72 = 49 

672 = 4489 

6672 = 444889 

66672 = 4……8….9 

666672 = 4……..8……..9 

6666672 = 4……..8………..9 

Using above pattern find the square of 66666672. 

 

CHAPTER –COMBUSTION AND FLAME 

Objective /Learning outcome-Students will know the different types of fuel. They will use 

fuel judicially. 

LINK-https://youtu.be/YheB51LPg44 

Introduction 

Combustion 



 A chemical process in which a substance reacts with oxygen to give off heat and light 

is called combustion. 

 The burning of wood is an example of combustion. 

 

Combustible and Non-Combustible Substances 

 Substances, which easily catch fire are combustible substances, such as paper, coal, 

wood. 

 Substances, which do not catch fire readily are non-combustible substances, such as 

sand, water, glass. 

 

History of Wood and Candle Flame 

Fuel 

 Any substance, which upon combustion produces a usable amount of energy is known 

as fuel. For example, fossil fuels, biogas, nuclear energy etc. 

 Fuels can be solid, liquid or gas depending on their state. 

 On the basis of their occurrence, it can be either natural or artificial. 

Ignition Temp 

The lowest temperature at which a combustible substance catches fire when heated in the air 

is called its ignition temperature. 

Inflammable Substances 

The substances, which have very low ignition temperature and can easily catch fire with a 

flame are known as inflammable substances. Examples: diesel, LPG, acetone. 

Fire 



 Fire is the result of a chemical combustion reaction between oxygen and some sort of 

fuel. 

 How long a fire lasts depends on how much fuel and oxygen are available. 

Multiple Choice Questions 

1,A substance which reacts with oxygen giving heat is called a combustible 
substance. Which one of the following is a combustible substance? 

iron nail 

glass 

stone piece 

wood 

Soln: 

Answer is (d) wood 

Explanation: 

Glass, iron nail and stone piece will not burn like wood hence they are not combustible. 
Wood burns in air and it is called the combustible substance. 

2.Which one of the following has the highest calorific value? 

kerosene 

biogas 

LPG 

petrol 

Soln: 

Answer is (c) LPG 

Explanation: 

Calorific represents the amount of heat generated when fuel burns completely. 

The calorific value of LPG is 55000-kilo joules/ Kg, which is high when compared to the 
calorific value of Kerosene, Biogas and petrol. 

3.Magnesium ribbon on burning in air produces: 

magnesium oxide, water and light. 

magnesium oxide and heat. 

magnesium oxide, heat and light. 

magnesium oxide, water and heat. 

Soln: 

Answer is (c) magnesium oxide, heat and light 

Explanation: 

Magnesium reacts with atmospheric oxygen to get magnesium oxide by liberating heat and 
light. 

4.The chemical reaction is – Mg+O2 MgO2 + Heat+ Light. 

Which of the following is not a combustible substance? 

camphor 



glass 

straw 

alcohol 

Soln: 

Answer is (b) glass 

Explanation: 

Camphor, glass, straw can burn in air and they are combustible substance. Glass will not 
burn in air and it is non-combustible substance. 

5.The substance that does not burn with flame is 

LPG 

camphor 

dry grass 

charcoal 

Soln: 

Answer is (d) charcoal 

Explanation: 

The charcoal will not vaporize on heating. Hence charcoal will not burn by producing the 
flame. Charcoal glows on combustion. 

6.On placing an inverted tumbler over a burning candle, the flame extinguishes after 
some time. This is because of the nonavailability of 

oxygen 

water vapours 

carbon dioxide 

wax 

Soln: 

Answer is (a) oxygen 

Explanation: 

Oxygen is necessary for combustion. When we place inverted tumbler over a burning candle, 
o 

xygen supply will be stopped, this extinguishes the flame. 

7.If a person’s clothes catch fire, the best way to extinguish the fire is to: 

throw water on the clothes. 

use the fire extinguisher. 

cover the person with a woollen blanket. 

cover the person with a polythene sheet. 

Soln: 

Answer is (c) cover the person with a woollen blanket. 

Explanation: 



By covering a person’s clothes with the woollen blanket we are cutting off the oxygen 
required for burning of clothes. Hence fire will be distinguished. 

8.The substance expected to have the highest ignition temperature out of the 
following is 

kerosene 

petrol 

coal 

alcohol 

Soln: 

Answer is (c) coal 

Explanation: 

Ignition temperature is the lowest temperature at which a substance catches fire. Among the 
given options coal have highest ignition temperature. 

9.Choose the correct statement about inflammable substances from the following. 
They have: 

low ignition temperature and cannot catch fire easily. 

high ignition temperature and can catch fire easily. 

low ignition temperature and can catch fire easily. 

high ignition temperature and cannot catch fire easily. 

Soln: 

Answer is (c) low ignition temperature and can catch fire easily. 

The inflammable substances are the substances that easily catch fire. They are substances, 
which have very low ignition temperature and when exposed to air, they catch fire easily. 

10.Choose the incorrect statement from the following. Forest fires are usually due to: 

carelessness of humans 

heat of sun 

cutting of trees 

lightning strike 

Soln: 

Answer is (c) Cutting of trees. 

Deforestation or Cutting of trees is not the cause for the forests fire. Forest fires are 
usually caused due to  heat of sun, lightning strike and carelessness of humans 

 

Q1 People usually keep Angethi/burning coal in their closed rooms during winter 
season. Why is it advised to keep the door open? 

Soln: 

Burning of coal produces carbon monoxide which is poisonous for the people inhaling it. 
If the door is closed, oxygen level will be less and carbon-monoxide level will be high. 
This is harmful for the person sleeping in the room. Hence the door should be closed. 



Q2. Manu was heating oil to fry potato chips. The cooking oil all of a sudden caught 
fire; he poured water to extinguish the fire. Do you think this action was suitable? If 
yes, why? If not, why not? In such a condition what should Manu have done? 

Soln: 

No,  the step taken by Manu to extinguish fire from oil is not suitable. Because along with 
water oil also spread which will increase the flame. 

Steps that should have been taken by Manu 

Manu should have put the flame of the burner off and put a lid on frying pan. This cuts 
the contact between flame and oxygen and the flame will be gradually extinguished. 

 

ACTIVITY-To do check why does candle put off when we cover it with glass. 

Velue based question-Why do we must get our vehicles serviced regularly? 

 

SUBJECT - GEOGRAPHY 

Sub teacher-NIDA 

1.Which one of the followings is not the way of saving energy at home? 

(a) Switching off lights when not in use 

(b) Keeping gas off when not in use 

(c) Cooking food in an open pan on low flame 

(d) Switching on lights during daytime 

2. Petrbleum is referred to as ‘black gold’ because 

(a) it’is black in colour 

(b) it is yellow in colour 

(c) it is valuable 

(d) it is used in making jewellery 

3.Where do we find natural gas resources in India? 

(a) Uttar Pradesh 

(b) Bihar 

(c) Mumbai High 

(d) Jammu and Kashmir 

4. Mineral fuel is found in: 

(a) Sedimentary rocks 

(b) Metamorphic rocks 

(c) Igneous rocks 

(d) All of these 

5. Which of the following are non-conventional resources? 

(a) Wind energy 

(b) Solar energy 



(c) Tidal energy 

(d) All of these 

6. Energy obtained from the earth is known as: 

(a) Nuclear energy 

(b) Bio gas 

(c) Geothermal 

(d) Thermal 

7.  ____ is an example of conventional energy sources. 

A) Firewood 

B) Technology 

C) iron 

D) Silver 

8.T he South American country which boasts of mineral oil is 
A) Uruguay 
B) Bolivia 
C) Brazil 
D) Venezuela 

9.  _____ is disadvantage of using hydel power. 
A) easy access 
B) doesn’t cause pollution. 
C) local people are forced to evacuate the area for construction of hydel 
power project 
D) cheap for usage  

10. Thermal power is electricity generated from _____.  
A) Coal 
B) Hydel power 
C) firewood 
D) iron 

 

  

 

  



Power Resources: 

1. Power resources are of two types: (a) Conventional Resources, (b) Non-

conventional Resources 

2. We need power resources for industry,domastic use, agriculture, 

transport, communication and defence 

 



 

Subject-civics 

Sub teacher-Poonam Pathak 

Topic:-  Chapter 4 – Understanding Laws 

Sub Topic :-   Topics in the Chapter 

• Do Laws Apply to All? 
→ Rule of Law 
→ How Rule of Law established in India? 
• How Do New Laws Come About? 
• Unpopular and Controversial Laws 

Learning Objectives:- To make Students aware about the Judiciary System and 

Laws.  

 

Methodology:-PPT, Video and word file 



You tube link:-https://www.youtube.com/watch?v=Xj1NNd7VTcQ 

Activity 1:- Find out different Laws in India and why it is important  

Do Laws Apply to All? 

• All persons in independent India are equal before the law. 
→ The law cannot discriminate between persons on the basis of their religion, caste 
or gender. 

• Any crime or violation of law has a specific punishment as well as a process 
through which the guilt of the person has to be established. 

Rule of Law 

• Rule of law means is that all laws apply equally to all citizens of the country and no 
one can be above the law. 

How Rule of law established in India? 

• It is often believed that it was the British colonialists who introduced the rule of law 
in India. 

 
→ However, historians have disputed this claim because: 
1. Colonial law was arbitrary (dictatorial). 
2. Indian nationalists played a prominent role in the development of the legal sphere 
in British India. 

• Nationalists wanted to change the idea of law from a set of rules that they were 
forced to obey, to 
law as including ideas of justice. 

• By the end of the nineteenth century, the Indian legal profession began to use law 
to defend the legal rights of Indians. 

 
→ Indian judges also began to play a greater role in making decisions. 

• Thus, in several ways, Indians played a major role in the evolution of the rule of law 
during the colonial period. 

• After Independence, the document, Constitution served as the foundation on which 
our representatives began making laws for the country. 

 
→ Every year several new laws made as well as existing ones revised by elected 
representatives. 

 

Assignment:- 

https://www.youtube.com/watch?v=Xj1NNd7VTcQ


1. Define Laws and why it is important for all. 

2. How can we say that Parliament has an important role in making laws? 
3. Define ‘Sedition’. 
4. According which new law sons, daughters and their mothers get an equal share of 

family property? 
5. Who is known to be the incharge of making law? 

 
 
 
 

कऺा -आठव ीं, ववषम-हहींदी 
PLEASE WATCH THIS VIDEOS  

https://www.youtube.com/watch?v=VQH6CA_MSYo 
https://www.youtube.com/watch?v=ZzAXOlCvLGk 
 
 

प्रश्न 1. अऩहठत गदमाींश को ऩढ़कय न च ेहदए गए प्रश्नों के उत्तय दीजिए : 
 

सुचारयत्र्म के दो सशक्त स्तॊब हैं-प्रथभ सुसॊस्काय औय द्रवितीम सत्सॊगतत। सुसॊस्काय बी ऩूिव 
जीिन की सत्सॊगतत ि सत्कभों की अर्जवत सॊऩवि है औय सत्सॊगतत ितवभान जीिन की दरुवब 
विबूतत है। र्जस प्रकाय कुधातु की कठोयता औय कालरख ऩायस के स्ऩशव भात्र से कोभरता 
औय कभनीमता भें फदर जाती है, ठीक उसी प्रकाय कुभागी का कारुष्म सत्सॊगतत से स्िर्णवभ 
आबा भें ऩरयिततवत हो जाता है। सतत सत्सॊगतत से विचायों को नई ददशा लभरती है औय 
अच्छे विचाय भनुष्म को अच्छे कामों भें प्रेरयत कयते हैं। 

ऩरयणाभतः सुचरयत्र का तनभावण होता है। आचामव हजायीप्रसाद वििेदी ने लरखा है-भहाकवि 
टैगोय के ऩास फैठने भात्र से ऐसा प्रतीत होता था, भानो बीतय का देिता जाग गमा हो। 
िस्तुत. चरयत्र से ही जीिन की साथवकता है। चरयत्रिान व्मर्क्त सभाज की शोबा है. शर्क्त है। 
सुचारयत्र्म से व्मर्क्त ही नहीॊ, सभाज बी सुिालसत होता है औय इस सुिास से याष्र मशस्िी 
फनता है। विदयु जी की उर्क्त अऺयशः सत्म है कक सुचरयत्र के फीज हभें बरे ही िॊश ऩयॊऩया 
से प्राप्त हो सकते हैं, ऩय चरयत्र-तनभावण व्मर्क्त के अऩने फरफूते ऩय तनबवय है। 

आनुिॊलशक ऩयॊऩया, ऩरयिेश औय ऩरयर्स्थतत उसे केिर प्रेयणा दे सकते हैं, ऩय उसका अजवन 
नहीॊ कय सकते, िह व्मर्क्त को उियाधधकाय भें प्राप्त नहीॊ होता। व्मर्क्त-विशषे के लशधथर-
चरयत्र होने से ऩूये याष्र ऩय चरयत्र-सॊकट उऩर्स्थत हो जाता है, क्मोंकक व्मर्क्त ऩूये याष्र का 
एक घटक है। अनेक व्मर्क्तमों से लभरकय एक ऩरयिाय, अनेक ऩरयिायों से एक कुर, अनेक 
कुरों से एक जातत मा सभाज औय अनेकानेक जाततमों औय सभाज सभुदामों से लभरकय ही 
एक याष्र फनता है। 

 (क) सत्सॊगतत कुभागी को कैसे सुधायती है? सोदाहयण स्ऩष्ट कीर्जए। 

https://www.youtube.com/watch?v=VQH6CA_MSYo
https://www.youtube.com/watch?v=ZzAXOlCvLGk


(ख) चरयत्र के फाये भें विदयु के क्मा विचाय हैं? 

(ग) व्मर्क्त विशषे का चरयत्र सभूच ेयाष्र को कैसे प्रबावित कयता है? 

(घ) व्मर्क्त के चरयत्र-तनभावण भें ककस-ककस का मोगदान होता है तथा व्मर्क्त सुसॊस्कृत कैसे 
फनता है? 

(ड) सॊगतत के सॊदबव भें ऩायस के उल्रेख से रेखक क्मा प्रततऩाददत कयना चाहता है? 

(च) ककसी व्मर्क्त-विशषे के लशधधर-चरयत्र होने से याष्र की क्मा ऺतत होती है? 

प्रश्न 2. अऩहठत ऩदमाींश  को ऩढ़कय न च ेहदए गए प्रश्नों के उत्तय दीजिए : 

क्मा योकें गे प्ररम भेघ मे, क्मा विद्मुत-घन के नतवन, 

भुझ ेन साथी योक सकें गे, सागय के गजवन-तजवन। 

भैं अवियाभ ऩधथक अरफेरा रुके न भेये कबी चयण, 

शूरों के फदरे पूरों का ककमा न भैंने लभत्र चमन। 
भैं विऩदाओॊ भें भुसकाता नि आशा के दीऩ लरए 

कपय भुझको क्मा योक सकें गे जीिन के उत्थान-ऩतन, 

भैं अटका कफ, कफ विचलरत भैं, सतत डगय भेयी सॊफर 

योक सकी ऩगरे कफ भुझको मह मुग की प्राचीय तनफर 

आॉधी हो, ओरे-िषाव हों, याह सुऩरयधचत है भेयी, 
कपय भुझको क्मा डया सकें गे मे जग के खॊडन-भॊडन। 

भुझ ेडया ऩाए कफ अॊधड़, ज्िाराभुर्खमों के कॊ ऩन, 

भुझ ेऩधथक कफ योक सके हैं अर्ननलशखाओॊ के नतवन। 
भैं फढ़ता अवियाभ तनयॊतय तन-भन भें उन्भाद लरए, 

कपय भुझको क्मा डया सकें गे, मे फादर-विद्मुत नतवन। 

(क) उऩमुवक्त काव्माॊश के आधाय ऩय कवि के स्िबाि की ककन्हीॊ दो प्रभुख विशषेताओॊ का 
उल्रेख कीर्जए।  

(ख) कविता भें आए भेघ, विदमुत, सागय की गजवना औय ज्िाराभुखी ककनके प्रतीक 
हैं? कवि ने उनका सॊमोजन महाॉ क्मों ककमा है?  

(ग) ‘शूरों के फदरे पूरों का ककमा न भैंने कबी चमन’-ऩॊर्क्त का बाि स्ऩष्ट कीर्जए।  

(घ) ‘मुग की प्राचीय’ से क्मा तात्ऩमव है? उसे कभजोय क्मों फतामा गमा है?  



(ङ) ककन ऩॊर्क्तमों का आशम है-तन-भन भें दृढ़तनश्चम का नशा हो तो जीिन भागव भें 
फढ़ते यहने से कोई नहीॊ. योक सकता?  

प्रश्न  3. चचत्र को देखकय भन भें िो ववचाय उबय यहे हैं उनको 25-30 शब्दों भें लरखखए : 

 

प्रश्न 4. कहान  को ऩढ़कय एक ओय नतैतक भलू्म ऩय आधारयत कहान  लरखखए : 

कामय के प्रतत रगन  

भहायाष्र के गाॊि भें आकाशिाणी होती है आगाभी कुछ भहीनों भें फयसात नहीॊ होगी। गाॊि के 
ककसान ऩयेशान हो गए सबी रोग खेती-फाड़ी छोड़कय शहय की ओय योजगाय की तराश भें 
ऩरामन कय गए। 

कुछ ही सभम भें ऩूया गाॊि खारी होने रगा। 

याभदास खेत भें हर चराने रगता है। साये गाॊि के रोग हॊसते हैं। याभदास को ऩागर भुखव 
औय अनेक शब्दों से उसका उऩहास , भजाक फनाते हैं। एक िदृ्ध व्मर्क्त ने याभदास से ऩूछा 
बविष्मिाणी हुई है फायह भहीने तक फयसात नहीॊ होगी तो तुभ हर क्मों चरा यहे हो ? 

हर चराने से क्मा पामदा ?  

जफ ऩानी ही नहीॊ लभरेगा तो पसर कैसे उऩजेगा। प्रश्न के उिय भें याभदास ने फड़ ेही शाॊत 
स्िबाि से जिाफ ददमा , कक भैं इसलरए हर चरा यहा हूॊ कहीॊ फायह भहीन ेभें भैं ! 

खेती कयना ना बूर जाऊॊ । 

मह िवाफ सुनकय िदृ्ध व्मर्क्त िहाॊ से चरा गमा। याभदास खेत भें भेहनत कयने भें व्मस्त 
हो गमा। याभदास की फात फादरों ने सुनी औय कुछ देय फाद कारी घटा तघय कय आई औय 
फयसात शुरू हो गई। 
सबी रोगों को आश्चमव हुआ की बविष्मिाणी हुई थी फायह भहीने फयसात नहीॊ होगी। 



कपय मह अचानक फयसात कैसे ? 

ककसी ने फादर को योककय ऩूछा बविष्मिाणी हुई थी के फायह भहीने फयसात नहीॊ होगी कपय 
मह फयसात कैसे ? इस ऩय फादर ने जिाफ ददमा कक भैं याभदास के शब्दों से प्रबावित हो 
गमा औय भुझ ेऐसा रगा कक याभदास अऩने कामव को नहीॊ छोड़ यहा है िह फायह भहीने का 
इॊतजाय इसलरए नहीॊ कय यहा है , कहीॊ िह खेती कयना ना बूर जाए। 

इसलरए भैं बी फयस यहा हूॊ कहीॊ फायह भहीने भें भैं फयसना ना बूर जाऊॊ । 

नैततक लशऺा 
 कामव के प्रतत रगन हो तो सबी कामव ऩुये होते हे। 
 बगिान बी उसीके साथ है जो अऩने कामव को ऩूयी तनष्ठा से कये। 
 आकर्स्भक फयसात याभदास की तनष्ठा का पर था। 
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प्र ।. तनम्न लरर्खत िाक्मों भें सॊख्मा प्रमोग कयके ऩूया कयो : - 
क) भाता - - - लबऺुकाम बोजन मच्छतत । 
(एकस्म , एकस्भै ) 
ख) धचककत्सकः ---- रुनणेभ्मः औषधधभ ्     दत्िा सेिाॊ कयोतत । 
( ऩञ्च , ऩॊचभे्मः ) 
ग) फालरका - -- - - भदहरामाः सहामताभ ्कयोतत। 
( एक, एकस्माः ) 
 



 

 

 


